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0_#33 1_HERA D 2 18R |3_1FLLESEF |4 5FLLET0 [5_ 105 L1 E20(6_ 205 LLE |7 _BE#R

Ril FRH FERE TR

/MNERTH (A) (A) (A) (A) (A) (A) (A) (A)
[TES HELDMBE
0_ik% 0_#% 88,058 8,851 4,280 13,829 11,946 20, 661 27,991 500
0_#a% 1_ERE 72,126 6,595 3,880 12,349 10, 435 17,956 20, 789 122
0_ik% 11_ (ER#E) EROBE - X8 43,850 4,362 2,879 8,676 6,691 10,579 10, 607 56
0_#a% 12_ (BAE) H#@EREBEMORKELE 2,770 272 172 556 384 546 829 "
0_ik% 13_ (BRAE) /S—bk - 7L k- ZOHth 25,506 1,961 829 3,117 3,360 6, 831 9,353 55
0_#a% 2 &8 4,867 515 143 500 516 1,011 2,174 8
0_ik% SEADHBEE 1,480 234 44 138 154 274 631 5
0_#a% 4 BEAOBVWEE (RERNBEZST) 5,400 1,050 136 551 512 857 2,270 24
0_ik% 5_RIERERE 2,121 230 31 128 154 273 1,294 1"
0_#a% 6_fEE il [TE) 2,064 221 46 163 175 290 833 330
0_ik% RI_ (B#8) ERE (REZET) 76,993 7,110 4,023 12,849 10, 951 18,967 22,963 130
A_BEMBEERE 0_#% 1,589 153 48 162 159 346 ni 4
A_BEMBREEE 1_ERE 179 16 1" 24 20 55 53 -
A_BEMBEERE 11_ (BRA%E) EROBE - #tX8 176 16 1" 24 20 52 53 -
A_BEMBREEE 12_ (BR%E) HBEREEXMOIKELE - - - - - - -
A_BEMBEERE 13_ (BRAE) /A— k- 7ILA k- ZTDit 3 - - - - 3 - -
A_BEMIBREEE 2 &8 1,318 122 34 128 130 268 633 3
A_BEMBEERE SEADHBEE 84 15 3 9 9 21 27 -
A_BEMIBREEE 4 EAOGVWEE (RENBEZET) - - - - - - - -
A_BEMBEERE 5_HIEfERE 2 - - - - - 2 -
A_BEMBREEE 6_ft% b TR 6 - - 1 - 2 2 1
A_BEMBEERE RI_ (Bi8) ERE (REZED) 1,497 138 45 152 150 323 686 3
B_FFIHY - BRI RS 0_#% 15, 155 1,272 1,003 2,916 2,306 3,515 4,126 17
B_HPIHY - BATHIBRIERE 1_ERE 12,880 1,035 914 2,640 2,049 3,044 3,190 8
B_HPIHY - BRI IERE 11_ (BAE) EROBE - tX8 10,271 846 817 2,284 1,696 2,415 2,210 3
B_HPIHY - BAMTHIBRMERE 12_ (BA%E) #BEREBEMORKELE 241 21 21 51 23 42 82 1
B_HPIHY - BRI IERE 13_ (BRAE) /A=t -7LRA k- ZDit 2,368 168 76 305 330 587 898 4
B_HFIHY - BATHIBRMERE 2 &8 690 89 31 74 76 153 267 -
B_HPIHY - BRI IERE SEADHDEE 349 31 1 30 39 80 161 1
B_HFIHY - BRAMTHIBRMERE 4 BEAOBVEE (RENBEZST) 1,067 101 42 153 124 197 445 5
B_BFIK - RMIBIRMEEE | RERESE 90 4 2 10 9 23 40 2
B_HFIHY - BAMTHIBRMERE 6_fEE Lol [T 79 12 7 9 9 18 23 1
B_HPIHY - BRI IERE RI_ (B#8) ERE (REZET) 13,570 1,124 945 2,714 2,125 3,197 3,457 8
C_BBHEBEE 0_#% 16,135 1,528 739 2,418 2,218 4,042 5174 16
C_BHRHEE 1_ERE 14, 866 1,457 710 2,304 2,074 3,795 4,515 "
C_RBHEBEE 11_ (ER#E) EROBE - X8 10, 565 1,129 583 1,816 1,504 2,636 2,890 1
C_BHRHEE 12_ (BA#E) HMEREREMOELS 495 61 14 81 80 105 153 1
C_BBHBEE 13_ (BRE) /8A— k7L A k- ZDit 3,806 267 13 407 490 1,054 1,472 3
C_BHRHEE 2_&%E ni 34 18 68 n 142 383 1
C_RBHEBEE SENDHDHEE 27 3 2 3 1 4 8 -
C_BHRHEE 4 BEAOGWEE (RERNBEZST) 58 3 4 5 " 12 23 -
C_BBHEBEE 5_RHIEGERE 391 19 5 33 49 75 208 2
C_BHRHEE 6_ft% Eoifi TTREE) 76 12 - 5 6 14 37 2
C_BBHBEE RI_ (B18) ERE (REZEDV) 15,583 1,491 728 2,372 2,145 3,937 4,898 12
D_FR3EAEHEE 0_#% 10, 607 1,130 535 1,609 1,422 2,725 3,165 21
D_fREAHEHEE 1_ERE 8,802 875 490 1,453 1,263 2,444 2,259 18
D_FR3EAEHEE 11_ (BAE) EROBE - tX8 4,545 460 347 903 702 1,062 1,064 1
D_BRFEHEE 12_ (BR#E) H5BEREEEMOREHE 97 12 1 19 12 21 32 -
D_FR3EAEHEE 13_ (BRA#E) A=k -7 A - ZDit 4,160 403 142 531 549 1,361 1,163 "
D_BRFEHEE 2 && 779 100 22 7 84 144 357 1
D_FR3EAEHEE SEADHBEE 143 24 4 17 " 18 69 -
D_BRFEHEE 4 BAOLVEE (RENBEEZST) 602 100 13 42 45 85 317 -
D_FR3EAEHEE 5_RIEfERE 193 18 3 14 10 23 125 -
D_BRFEHEE 6_ftx Lo TREE) 88 13 3 12 9 " 38 2
D_R3EAEHEE RI_ (B#8) ERE (REZETL) 9, 581 975 512 1,524 1,347 2,588 2,616 19
E y—EXBERERE 0_#% 12,151 959 632 2,075 1,755 2,895 3,802 33
E 4—EXBEMREE 1_ERE 10, 324 793 581 1,869 1,564 2,558 2,941 18
E4—EXBERES 11_ (ER#E) EROBE - X8 4,299 367 373 1,076 691 902 883 1
E 4—EXBEMREE 12_ (BA#E) HBEREBEMOTELS 183 6 16 36 20 34 69 2
E4—EXBERES 13_ (BRAE) /8= bk - 7ILNA | - ZOfh 5,842 420 192 757 853 1,622 1,989 9
E —EXBEMREE 2 &8 mn 29 8 42 27 51 114 -
E4—EXBERES SENDHBEE 335 40 14 34 37 58 150 2
E 4—EXBEMREE 4 BAOTGWEE (RERNBEZST) 708 61 20 88 17 136 318 8
E y—EXBERERE 5_RIREEE 403 24 4 30 33 65 244 3
E —EXBEMREE 6_ftx Eoifi TTEE) 110 12 5 12 17 27 35 2
E y—EXBERLEE RI_ (Bi8) ERE (RRZEL) 10, 595 822 589 1,911 1,591 2,609 3,055 18
F_REBRMUERE 0_#% 1,416 121 67 242 197 310 479 -
F_REBEMEEE 1_ERE 1,394 121 67 240 195 307 464 -
F_ REMEMERE 11_ (BA#E) EROBE - X8 1,001 83 57 207 154 237 263 -
F_RRBEMEEE 12_ (BRE) HBEREEXMOIKELR - - - - - - - -
F REMEMUERE 13_ (BRAE) A=k - 7ILA - ZTDit 393 38 10 33 4 70 201 -
F_RRBEMEEE 2 %8 2 - - - - 1 1 -
F_REBEMEEE SEADHBEE - - - - - - - -
F_REBEMEEE 4 BADLGVEE (RENBEZET) 8 - - - 1 1 6
F_REBEMEEE 5_RIEfERE - - - - - - - -
F_RRBEMEEE 6_fEE LA [R5 12 - - 2 1 1 8 -
FREMEMUERE RI_ (B#8) ERE (REZEDV) 1,396 121 67 240 195 308 465 -
C_RMRRRES 0_#% 2,134 770 33 106 86 148 989 2
G_RMARERE 1_ERE 348 4 20 59 44 65 19 -
G_EMiRRtESE 11_ (BRAE) EROBEA - X8 213 24 14 47 26 46 56 -
G_RMARERE 12_ (BA#E) H@EREBEMOTELS 6 - - 2 1 3 - -
C_RMRRRES 13_ (BRE) /S— bk - 7ILNA | - ZOfh 129 17 6 10 17 16 63 -
G_RMARERE 2 &8 43 17 1 1 1 2 15 -
C_RMRRRES SEADHBHEE 132 75 1 2 4 6 44 -
G_RMARERE 4 BAOTGWEE (RENBEZST) 934 508 8 27 16 44 331 -
C_RMRRRES 5_RIEREE 665 128 3 1 21 30 470 2
C_EMARtES 6_fEX L DA TREE) 12 1 - - - 1 10 -
C_RMRRRES RI_ (B#8) ERE (RRZEL) 391 58 21 66 45 67 134 -
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Fﬁ%ﬁﬁﬂ Fﬁ%ﬁﬁﬂ ?Egﬁﬁﬁ ?Egﬁﬁﬁ ?Egﬁﬁﬁ EERRE EERRE R
1 1 [
0_#2% 1_HEBAD [2_1FFKkm  |3_IFUESE [4 5FLIET0 [5_105L1E20[6_20FLIE  |7_BERIR
i ERE ERE TREE)
AR [ON) [ON) [ON) [ON) [ON) [ON) [ON) [ON)
[TES HEE LD
H EETIRESE 0_#2% 11, 408 1,238 522 1,931 1,572 2,778 3,340 21
H EETREES 1_BRE 9,968 1,048 479 1,769 1,416 2,504 2,730 22
H EETREESE 11_ (BRE) EHROBE - %8 6,574 803 337 1,221 990 1,683 1,527 13
H EETREES 12_ (BAE) $BEREEEMOIKERLS 601 52 57 144 80 123 142 3
H EETREESE 13_ (BRAE) /S— bk« ZILNA - 2Dt 2,793 193 85 404 346 698 1,061 6
H AEETRHES 2 %8 428 61 13 47 46 81 179 1
H EETREESE SEADHIEE 138 17 5 16 12 33 54 1
H AEETRHES L BAOLVEE (RENBEZED) 633 82 18 77 72 124 259 1
H EETREESE 5_RIEfEEE 130 13 2 7 13 20 75 -
H AEETRHES 6_fE% E Dl [REE) m 17 5 15 13 16 43 2
H EETREESE RI_ (548) BRE (REZA&0) 10, 396 1,109 492 1,816 1,462 2,585 2,909 23
1_85% - B EES 0_#% 2,784 254 110 403 386 651 974 6
1_#Mi% - BRI ESE 1_BRE 2,608 238 107 385 363 598 912 5
1_85% - LB EES 11_ (BRA#E) EROBE - %8 1,993 195 84 339 310 500 562 3
[_#fi% - SERE RS 12_ (BRE) HBHEREREMORELE 65 4 3 1 5 9 32 1
1_85% - MBI EES 13_ (BRE) /S—hk - FILAA k- 204t 550 39 20 35 48 89 318 1
8% - BRI ES 2 128 56 4 1 6 11 16 18 -
1_85% - B EES SEADHDEE 17 1 - 1 1 3 11 -
[_#fi% - SRR E A BADBVEE (RENBEEZED) 61 5 - 6 8 20 21
1_85% - MBS 5_RiEpEEE 3 - - - 1 1 1 -
180 - BRI ES 6_ftE Dl TREE) 39 6 2 5 2 13 11 -
1_85% - B EES RI_ (Fi8) BRE (REZEL) 2,664 242 108 391 374 614 930 5
J B - REREE 0_#a% 3,428 340 151 573 488 839 1,019 18
J B - RENEE 1_BRE 2,029 185 116 397 311 495 516 9
J B - REREE 11_ (BRA#&) EROBE - t%8 1,850 167 112 373 285 465 442 6
J B - RENEE 12_ (BA®) $BEREEEMOIKERLS 1 - - - - 1 - -
J B - REREE 13_ (BRHE) /S—k « ZILNA k- ZDit 178 18 4 24 26 29 74 3
J B - RENESE 2 %8 445 52 10 45 59 122 156 1
J_EE - RIEREEE SEADHIEE 173 10 5 22 22 M 72 1
J B - RENESE 4 BAOLVEE (RENBEZED) 658 76 13 90 87 151 239 2
J_EE - RIEREEE 5_RIkGEESE 62 6 7 8 5 16 18 2
J B - RENESE 6_HEE LDl TREE) 61 1 - 1 4 14 18 3
J_EE - RIEREE RI_ (F#8) ERE (RE%ETL) 2,474 237 126 442 370 617 672 10
KOEHE - 517 - AESEESs |08% 8,339 719 359 1,185 1,092 1,951 3,003 30
KBl - B - QRESHEE |I_ERE 7,708 668 337 1,102 1,012 1,823 2,743 23
KB - 517 - ARSHEE |11 (BEAS) EHAOBA - %8 1,992 219 120 338 276 488 546 5
KB - B - AESHEE  |12. (BAH) FHEREBEFORELS 1,005 107 55 205 151 193 291 3
KB - 517 - ARSEESR |13 (BAR) /S—k - ZILAAS - 204 4,711 342 162 559 585 1,142 1,906 15
KB - AR - aESREE  [2.&8 89 7 4 10 7 24 36 1
KB - 517 - AEEHESR  [LEAOHIEE 31 1 1 2 10 7 10 -
KB - 517 - ARSHESE A BAOLVET (RERABEEET) 325 28 11 47 44 58 135 2
KB - 517 - ARSEESE L REES 78 5 3 7 7 14 42 -
KB - B - QESHEE |6 XL [REE) 108 10 3 17 12 25 37 4
KBl - &R - ARSHEE  |RI_ (BB ERAE REZAL) 7,797 675 34 1,112 1,019 1,847 2,779 24
L_ DB REDME 0_#a% 2,912 367 81 209 265 461 1,203 326
L_SETRBEDRE 1_BRE 1,020 118 48 107 124 268 347 8
L_ DB REDME 11_ (BRA#&) EROBE - t%X8 3N 53 24 48 37 93 m 5
LSBT BN 12_ (BA®) $BERESEMOIKERLS 76 9 5 7 12 15 28 -
L_ DB REDME 13_ (BRE) /18— bk PILAA k- 204t 573 56 19 52 75 160 208 3
LS ETRBEDBE 2 %8 29 - 1 2 4 7 15 -
LD EFREDME S EADHIEE 51 17 2 2 2 3 25 -
LS ETR BN 4 BAOLVEE (RENBEZED) 346 86 7 16 27 29 176
LD EFREDME 5_RIRGEESE 104 13 2 8 6 6 69 -
LS ETR BN 6_HEE Dl TREE) 1,362 133 21 74 102 148 571 313
L D ETREDME RI_(Fi8) ERE (BEZET) 1,049 118 49 109 128 275 362 8
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0_#33 1_HERA D 2 18R |3_1FLLESEF |4 5FLLET0 [5_ 105 L1 E20(6_ 205 LLE |7 _BE#R

Ril FRH FERE TR

/MNERTH (A) (A) (A) (A) (A) (A) (A) (A)
[TES HELDMBE
0_ik% 0_#% 47,863 5,912 2,359 7,519 6,426 10, 765 14,584 298
0_#a% 1_ERE 37,726 4,039 2,095 6, 585 5,451 8,986 10, 503 67
0_ik% 11_ (ER#E) EROBE - X8 29,158 2,961 1,785 5,633 4,598 7,197 6,943 41
0_#a% 12_ (BAE) H#@EREBEMORKELE 1,354 151 88 267 162 233 447 6
0_ik% 13_ (BRAE) /S—bk - 7L k- ZOHth 7,214 927 222 685 691 1,556 3,113 20
0_#a% 2 &8 3,585 464 100 376 396 776 1,469 4
0_ik% SEADHBEE 1,192 218 32 106 132 210 491 3
0_#a% 4 BEAOBVWEE (RERNBEZST) 3,806 9N 94 345 328 576 1,536 16
0_ik% 5_RIERERE 380 124 13 24 23 45 149 2
0_#a% 6_fEE il [TE) 1,174 156 25 83 96 172 436 206
0_ik% RI_ (B#8) ERE (REZET) 41,311 4,503 2,195 6,961 5,847 9,762 11,972 n
A_BEMBEERE 0_#% 1,284 14 37 128 132 295 549 2
A_BEMBREEE 1_ERE 161 13 10 22 18 50 48 -
A_BEMBEERE 11_ (BRA%E) EROBE - #tX8 159 13 10 22 18 48 48 -
A_BEMBREEE 12_ (BR%E) HBEREEXMOIKELE - - - - - - -
A_BEMBEERE 13_ (BRAE) /A— k- 7ILA k- ZTDit 2 - - - - 2 - -
A_BEMIBREEE 2 &8 1,058 114 26 99 107 230 481 1
A_BEMBEERE SEADHBEE 60 14 1 1 1 14 17 -
A_BEMIBREEE 4 EAOGVWEE (RENBEZET) - - - - - - - -
A_BEMBEERE 5_HIEfERE 1 - - - - - 1 -
A_BEMBREEE 6_ft% b TR 4 - - - - 1 2 1
A_BEMBEERE RI_ (Bi8) ERE (REZED) 1,219 127 36 121 125 280 529 1
B_FFIHY - BRI RS 0_#% 8,245 790 532 1,567 1,251 1,885 2,210 10
B_HPIHY - BATHIBRIERE 1_ERE 6,677 605 472 1,397 1,080 1,565 1,553 5
B_HPIHY - BRI IERE 11_ (BAE) EROBE - tX8 6,002 518 446 1,314 1,028 1,439 1,254 3
B_HPIHY - BAMTHIBRMERE 12_ (BA%E) #BEREBEMORKELE 147 15 12 31 13 24 51 1
B_HPIHY - BRI IERE 13_ (BRAE) /A=t -7LRA k- ZDit 528 72 14 52 39 102 248 1
B_HFIHY - BATHIBRMERE 2 &8 553 80 22 53 58 129 211 -
B_HPIHY - BRI IERE SEADHDEE 291 27 6 24 34 62 137 1
B_HFIHY - BRAMTHIBRMERE 4 BEAOBVEE (RENBEZST) 672 n 29 85 75 119 290 3
B_BFIK - RMIBIRMEEE | RERESE 16 1 - 3 1 3 7 1
B_HFIHY - BAMTHIBRMERE 6_fEX DA [R5 36 6 3 5 3 1 12 -
B_HPIHY - BRI IERE RI_ (B#8) ERE (REZET) 7,230 685 494 1,450 1,138 1,694 1,764 5
C_BBHEBEE 0_#% 6, 766 720 331 1,054 901 1,667 2,087 6
C_BHRHEE 1_ERE 6,429 681 319 1,015 865 1,614 1,931 4
C_RBHEBEE 11_ (ER#E) EROBE - X8 5,629 563 307 949 808 1,492 1,507 3
C_BHRHEE 12_ (BA#E) HMEREREMOELS 119 19 1 21 13 20 45 -
C_EHBHBEE 13_ (BRE) /8A— k7L A k- ZDit 681 99 1 45 44 102 379 1
C_BHRHEE 2_&%E 228 21 8 30 28 37 103 1
C_RBHEBEE SENDHDHEE 14 3 1 1 3 4 2 -
C_BHRHEE 4 BEAOGWEE (RERNBEZST) 31 3 3 3 3 3 16 -
C_BBHEBEE 5_RHIEGERE 22 6 - 3 - 2 1 -
C_EBHEE 6_fEX LD TAREE) 42 6 - 2 2 7 24 1
C_BBHBEE RI_ (B18) ERE (REZEDV) 6,657 702 327 1,045 893 1,651 2,034 5
D_FR3EAEHEE 0_#% 5,067 631 281 818 679 1,218 1,430 10
D_fREAHEHEE 1_ERE 3,919 425 250 ANl 570 1,031 923 9
D_FR3EAEHEE 11_ (BAE) EROBE - tX8 3,058 290 225 621 489 141 685 7
D_RZEAHEHEE 12_ (BRE) HBEREEXRMORELR 41 3 - 1 5 9 13 -
D_FR3EAEHEE 13_ (BRA#E) A=k -7 A - ZDit 820 132 25 79 76 281 225 2
D_RZEAHEHEE 2 && 584 87 17 61 62 113 244 -
D_FR3EAEHEE SEADHBEE 13 22 3 13 9 12 54 -
D_RZEAHEHEE 4 BAOLVEE (RENBEEZST) 372 80 8 25 30 52 177 -
D_HRFEHEEE 5_RIEfERE 32 9 1 3 1 5 13 -
D_RZEAHEHEE 6_ftx Lo TREE) 41 8 2 5 7 5 19 1
D_R3EAEHEE RI_ (B#8) ERE (REZETL) 4,503 512 267 172 632 1,144 1,167 9
E y—EXBERERE 0_#% 4,313 460 250 810 650 915 1,217 1
E 4—EXBEMREE 1_ERE 3,501 3565 227 723 562 780 847 7
E4—EXBERES 11_ (ER#E) EROBE - X8 2,156 194 180 571 416 423 3N 1
E 4—EXBEMREE 12_ (BA#E) HBEREBEMOTELS 69 4 2 15 8 13 26 1
E4—EXBERES 13_ (BRAE) /8= bk - 7ILNA | - ZOfh 1,276 157 45 137 138 344 450 5
E —EXBEMREE 2 &8 165 24 5 24 19 29 64 -
E4—EXBERES SENDHBEE 220 35 8 18 29 37 93 -
E 4—EXBEMREE 4 BAOTGWEE (RERNBEZST) 308 28 9 35 25 50 157
E y—EXBERERE 5_RIREEE 68 1 - 5 4 10 38 -
E —EXBEMREE 6_ftx Eoifi TTEE) 51 7 1 5 " 9 18 -
E y—EXBERLEE RI_ (Bi8) ERE (RRZEL) 3,666 379 232 747 581 809 a1 7
F_REBRMUERE 0_#% 1,327 17 62 224 181 293 450 -
F_REBEMEEE 1_ERE 1,305 17 62 222 179 290 435 -
F_ REMEMERE 11_ (BA#E) EROBE - X8 944 80 54 195 143 225 241 -
F_RRBEMEEE 12_ (BRE) HBEREEXMOIKELR - - - - - - - -
F REMEMUERE 13_ (BRAE) A=k - 7ILA - ZTDit 361 37 8 27 36 65 188 -
F_RRBEMEEE 2 %8 2 - - - - 1 1 -
F_REBEMEEE SEADHBEE - - - - - - - -
F_REBEMEEE 4 BADLGVEE (RENBEZET) 8 - - 1 1 6 -
F_REBEMEEE 5_RIEfERE - - - - - - - -
F_RRBEMEEE 6_fEE LA [R5 12 - - 2 1 1 8 -
FREMEMUERE RI_ (B#8) ERE (REZEDV) 1,307 17 62 222 179 291 436 -
C_RMRRRES 0_#% 1,380 688 22 79 60 105 426 -
G_RMARERE 1_ERE 264 37 12 44 36 50 85 -
G_EMiRRtESE 11_ (BRAE) EROBEA - X8 180 21 1 39 26 39 44 -
G_RMARERE 12_ (BA#E) H@EREBEMOTELS 2 - - - 1 1 - -
C_RMRRRES 13_ (BRE) /S— bk - 7ILNA | - ZOfh 82 16 1 5 9 10 41 -
G_RMARERE 2 &8 38 16 - 1 1 2 12 -
C_RMRRRES SEADHBHEE 114 73 - 2 4 5 30 -
G_RMARERE 4 BAOTGWEE (RENBEZST) 836 491 8 24 12 4 260 -
G_EMiRRtEE 5_RIERERE 118 70 2 2 7 6 31 -
C_EMARtES 6_fEX L DA TREE) 10 1 - - - 1 8 -
C_RMRRRES RI_ (B#8) ERE (RRZEL) 302 53 12 51 37 52 97 -
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Fﬁ%ﬁﬁﬂ Fﬁ%ﬁﬁﬂ ?Egﬁﬁﬁ ?Egﬁﬁﬁ EEERE EERRE EERRE R
1 1 1 [
0_#A% 1_HEBAD [2_1FFKkm  |3_IFUESE [4 5FLIET0 [5_105L1E20[6_20FLIE  |7_BERIR
i ERE ERE TREE)
AR [ON) [ON) [ON) [ON) [ON) [ON) [ON) [ON)
[TES HEE LD
H EETIRESE 0_#2% 7,699 997 352 1,241 1,074 1,809 2,211 15
H EETREES 1_BRE 6,594 832 321 1,123 948 1,597 1,762 11
H EETREESE 11_ (BRE) EHROBE - %8 5,424 693 258 951 833 1,394 1,285 10
H EETREES 12_ (BAE) $BEREEEMOIKERLS 312 30 37 73 38 53 81 -
H EETREESE 13_ (BRAE) /S— bk« ZILNA - 2Dt 858 109 26 99 77 150 396 1
H AEETRHES 2 %8 385 60 8 M 44 76 155 1
H EETREESE SEADHIEE 130 16 5 15 11 28 54 1
H AEETRHES L BAOLVEE (RENBEZED) 463 61 13 50 56 93 189 1
H EETREESE 5_RIEfEEE 46 12 1 2 5 6 20 -
H AEETRHES 6_fE% E Dl [REE) 81 16 4 10 10 9 31 1
H EETREESE RI_ (548) BRE (REZA&0) 6,979 892 329 1,164 992 1,673 1,917 12
1_85% - B EES 0_#% 2,664 250 98 378 366 621 945 6
1_#Mi% - BRI ESE 1_BRE 2,496 234 96 360 347 571 883 5
1_85% - LB EES 11_ (BRA#E) EROBE - %8 1,919 191 75 319 298 482 551 3
[_#fi% - SERE RS 12_ (BRE) HBHEREREMORELE 61 4 3 10 5 8 30 1
1_85% - MBI EES 13_ (BRE) /S—hk - FILAA k- 204t 516 39 18 31 44 81 302 1
8% - BRI ES 2 128 52 4 - 6 9 15 18 -
1_85% - B EES SEADHDEE 16 1 - 1 1 2 11 -
[_#fi% - SRR E A BADBVEE (RENBEEZED) 60 5 - 6 7 20 21
1_85% - MBS 5_RiEpEEE 2 - - - - 1 1 -
180 - BRI ES 6_ftE Dl TREE) 38 6 2 5 2 12 11 -
1_85% - B EES RI_ (Fi8) BRE (REZEL) 2,548 238 96 366 356 586 901 5
J B - REREE 0_#a% 3,343 335 148 557 476 817 993 17
J B - RENEE 1_BRE 1,979 183 113 386 302 482 504 9
J B - REREE 11_ (BRA#&) EROBE - t%8 1,814 167 110 367 277 456 431 6
J B - RENEE 12_ (BA®) $BEREEEMOIKERLS 1 - - - - 1 - -
J B - REREE 13_ (BRHE) /S—k « ZILNA k- ZDit 164 16 3 19 25 25 73 3
J B - RENESE 2 %8 437 52 10 45 59 118 152 1
J_EE - RIEREEE SEADHIEE 173 10 5 22 22 M 72 1
J B - RENESE 4 BAOLVEE (RENBEZED) 652 75 13 88 86 151 237 2
J_EE - RIEREEE 5_RIkGEESE 43 6 7 5 3 11 10 1
J B - RENESE 6_HEE LDl TREE) 59 9 - 1" 4 14 18 3
J_EE - RIEREE RI_ (F#8) ERE (RE%ETL) 2,416 235 123 431 361 600 656 10
KOEHE - 517 - AESEESs |08% 4,235 516 206 569 521 903 1,505 15
KBl - B - QRESHEE |I_ERE 3,884 480 189 527 480 830 1,366 12
KB - 517 - ARSHEE |11 (BEAS) EHAOBA - %8 1,607 191 94 252 231 392 443 4
KB - 517 - ARSHESE |12 (BERAS) HEOEREELMORKERLE 561 il 29 103 73 98 184 3
KB - 517 - ARSEESR |13 (BAR) /S—k - ZILAAS - 204 1,716 218 66 172 176 340 739 5
KB - AR - aESREE  [2.&8 65 6 3 9 6 19 22 -
KB - 517 - AEEHESR  [LEAOHIEE 25 1 1 2 10 4 7 -
KB - BT - AESNEE L BADLBVEE (RENBEEZET) 188 20 9 25 18 33 82 1
KB - 517 - ARSEESE L REES 17 2 2 1 2 1 9 -
KB - AR - QESREE 6_fEE LT [TEE) 56 1 2 5 5 16 19 2
KBl - &R - ARSHEE  |RI_ (BB ERAE REZAL) 3,949 486 192 536 486 849 1,388 12
L_ DB REDME 0_#a% 1,540 267 40 94 135 237 561 206
L_SETRBEDRE 1_BRE 517 77 24 55 64 126 166 5
L_ DB REDME 11_ (BRA#&) EROBE - t%X8 266 40 15 33 31 66 77 4
LSBT BN 12_ (BA®) $BERESEMOIKERLS #“ 5 4 3 6 6 17 -
L_ DB REDME 13_ (BRAE) /S— k-« ZILNA k- ZDith 210 32 5 19 27 54 72 1
LS ETRBEDBE 2 %8 18 - 1 1 3 7 6 -
LD EFREDME S EADHIEE 36 16 2 1 2 1 14 -
LS ETR BN 4 BAOLVEE (RENBEZED) 216 77 2 4 15 13 101 4
LD ETREDRE 5_RIEtRE 15 7 - - - - 8 -
LS ETR BN 6_HEE Dl TREE) 738 90 1 33 51 90 266 197
L D ETREDME RI_(Fi8) ERE (BEZET) 535 71 25 56 67 133 172 5
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EERMBRERL . &

SEEHE SEEHE EEHAE EEHAE EEHAE EEHAE EEHAE EEHARE

1 1 1 1 1 1 1 1

0_#33 1_HERA D 2 18R |3_1FLLESEF |4 5FLLET0 [5_ 105 L1 E20(6_ 205 LLE |7 _BE#R

Ril FRH FERE TR

/MNERTH (A) (A) (A) (A) (A) (A) (A) (A)
[TES HELDMBE
0_ik% 0_#% 40, 195 2,939 1,921 6,310 5,520 9, 896 13,407 202
0_#a% 1_ERE 34,400 2,556 1,785 5,764 4,984 8,970 10, 286 55
0_ik% 11_ (ER#E) EROBE - X8 14, 692 1,401 1,094 3,043 2,093 3,382 3,664 15
0_#a% 12_ (BAE) H#@EREBEMORKELE 1,416 121 84 289 222 313 382 5
0_ik% 13_ (BRAE) /S—bk - 7L k- ZOHth 18,292 1,034 607 2,432 2,669 5,275 6,240 35
0_#a% 2 &8 1,282 51 43 124 120 235 705 4
0_ik% SEADHBEE 288 16 12 32 22 64 140 2
0_#a% 4 BEAOBVWEE (RERNBEZST) 1,594 139 42 206 184 281 734 8
0_ik% 5_RIERERE 1,741 106 18 104 131 228 1,145 9
0_#a% 6_fEE il [TE) 890 n 21 80 79 118 397 124
0_ik% RI_ (B#8) ERE (REZET) 35, 682 2,607 1,828 5,888 5,104 9, 205 10, 991 59
A_BEMBEERE 0_#% 305 12 1" 34 27 51 168 2
A_BEMBREEE 1_ERE 18 3 1 2 2 5 5 -
A_BEMBEERE 11_ (BRA%E) EROBE - #tX8 17 3 1 2 2 4 5 -
A_BEMBREEE 12_ (BR%E) HBEREEXMOIKELE - - - - - - -
A_BEMBEERE 13_ (BRAE) /A— k- 7ILA k- ZTDit 1 - - - - 1 - -
A_BEMIBREEE 2 &8 260 8 8 29 23 38 152 2
A_BEMBEERE SEADHBEE 24 1 2 2 2 1 10 -
A_BEMIBREEE 4 EAOGVWEE (RENBEZET) - - - - - - - -
A_BEMBEERE 5_HIEfERE 1 - - - - - 1 -
A_BEMBREEE 6_ft% b TR 2 - - 1 - 1 - -
A_BEMBEERE RI_ (Bi8) ERE (REZED) 2178 1" 9 31 25 43 157 2
B_FFIHY - BRI RS 0_#% 6,910 482 4N 1,349 1,055 1,630 1,916 7
B_HPIHY - BATHIBRIERE 1_ERE 6,203 430 442 1,243 969 1,479 1,637 3
B_HPIHY - BRI IERE 11_ (BAE) EROBE - tX8 4,269 328 3N 970 668 976 956 -
B_HPIHY - BAMTHIBRMERE 12_ (BA%E) #BEREBEMORKELE 94 6 9 20 10 18 31 -
B_HPIHY - BRI IERE 13_ (BRAE) /A=t -7LRA k- ZDit 1,840 96 62 2563 291 485 650
B_HFIHY - BATHIBRMERE 2 &8 137 9 9 21 18 24 56
B_HPIHY - BRI IERE SEADHDEE 58 4 1 6 5 18 24 -
B_HFIHY - BRAMTHIBRMERE 4 BEAOBVEE (RENBEZST) 395 30 13 68 49 78 155 2
B_BFIK - RMIBIRMEEE | RERESE 74 3 2 7 8 20 33 1
B_HFIHY - BAMTHIBRMERE 6_fEX DA [R5 43 6 4 4 6 1" 1 1
B_HPIHY - BRI IERE RI_ (B#8) ERE (REZET) 6, 340 439 451 1,264 987 1,503 1,693 3
C_BBHEBEE 0_#% 9,369 808 408 1,364 1,317 2,375 3,087 10
C_BHRHEE 1_ERE 8,437 716 391 1,289 1,209 2,181 2,584 7
C_RBHEBEE 11_ (ER#E) EROBE - X8 4,936 566 276 867 696 1,144 1,383 4
C_BHRHEE 12_ (BA#E) HMEREREMOELS 376 42 13 60 67 85 108 1
C_BBHBEE 13_ (BRE) /8A— k7L A k- ZDit 3,125 168 102 362 446 952 1,093 2
C_BHRHEE 2_&%E 489 13 10 38 43 105 280 -
C_RBHEBEE SENDHDHEE 13 - 1 2 4 - 6 -
C_BHRHEE 4 BEAOGWEE (RERNBEZST) 27 - 1 2 8 9 7 -
C_BBHEBEE 5_RHIEGERE 369 13 5 30 49 73 197 2
C_EBHEE 6_fEX LD TAREE) 34 6 - 3 4 7 13 1
C_BBHBEE RI_ (B18) ERE (REZEDV) 8,926 789 401 1,327 1,252 2,286 2,864 7
D_FR3EAEHEE 0_#% 5,540 499 254 791 743 1,507 1,735 1"
D_fREAHEHEE 1_ERE 4,883 450 240 742 693 1,413 1,336 9
D_FR3EAEHEE 11_ (BAE) EROBE - tX8 1,487 170 122 282 213 321 379 -
D_RZEAHEHEE 12_ (BR#E) H5BEREEEMOREHE 56 9 1 8 7 12 19 -
D_FR3EAEHEE 13_ (BRA#E) A=k -7 A - ZDit 3,340 n 17 452 473 1,080 938 9
D_RZEAHEHEE 2 && 195 13 5 10 22 31 113 1
D_FR3EAEHEE SEADHBEE 30 2 1 4 2 6 15 -
D_RZEAHEHEE 4 BAOLVEE (RENBEEZST) 230 20 5 17 15 33 140
D_FR3EAEHEE 5_RIEfERE 161 9 2 " 9 18 112 -
D_RZEAHEHEE 6_ftx Lo TREE) 41 5 1 7 2 6 19 1
D_R3EAEHEE RI_ (B#8) ERE (REZETL) 5,078 463 245 752 715 1,444 1,449 10
E y—EXBERERE 0_#% 7,838 499 382 1,265 1,105 1,980 2,585 22
E 4—EXBEMREE 1_ERE 6,823 438 354 1,146 1,002 1,778 2,094 "
E4—EXBERES 11_ (ER#E) EROBE - X8 2,143 173 193 505 275 479 512 6
E 4—EXBEMREE 12_ (BA#E) HBEREBEMOTELS 114 2 14 2 12 2 43 1
E4—EXBERES 13_ (BRAE) /8= bk - 7ILNA | - ZOfh 4,566 263 147 620 715 1,278 1,539 4
E —EXBEMREE 2 &8 106 5 3 18 8 22 50 -
E4—EXBERES SENDHBEE 115 5 6 16 8 21 57 2
E 4—EXBEMREE 4 BAOTGWEE (RERNBEZST) 400 33 " 53 52 86 161 4
E y—EXBERERE 5_RIERERE 335 13 4 25 29 55 206 3
E —EXBEMREE 6_ftx Eoifi TTEE) 59 5 4 7 6 18 17 2
E y—EXBERLEE RI_ (Bi8) ERE (RRZEL) 6,929 443 357 1,164 1,010 1,800 2,144 1
F_REBRMUERE 0_#% 89 4 5 18 16 17 29 -
F_REBEMEEE 1_ERE 89 4 5 18 16 17 29 -
F_REBEMEEE 11_ (Bf%) EROBS - X8 57 3 3 12 1 12 16 -
F_RRBEMEEE 12_ (BRE) HBEREEXMOIKELR - - - - - - - -
F REMEMUERE 13_ (BRAE) A=k - 7ILA - ZTDit 32 1 2 6 5 5 13 -
F_RRBEMEEE 2 &8 - - - - - - - -
F_REBEMEEE SEADHBEE - - - - - - - -
F_RRBEMEEE dEADGWEE (RENBEZST) - - -
F_REBEMEEE 5_RIEfERE - - - - - -
F_RRBEMEEE 6_fEE LA [R5 - - - - - - - -
FREMEMUERE RI_ (B#8) ERE (REZEDV) 89 4 5 18 16 17 29 -
C_RMRRRES 0_#% 754 82 1 27 26 43 563 2
G_RMARERE 1_ERE 84 4 8 15 8 15 34 -
G_EMiRRtESE 11_ (BRAE) EROBEA - X8 33 3 3 8 - 7 12 -
G_RMARERE 12_ (BA#E) H@EREBEMOTELS 4 - - 2 - 2 - -
C_RMRRRES 13_ (BRE) /S— bk - 7ILNA | - ZOfh 47 1 5 5 8 6 22 -
C_EMARtES 2 && 5 1 1 - - - 3 -
G_EMiRRtESE SEADHBHEE 18 2 1 - - 1 14 -
G_RMARERE 4 BAOTGWEE (RENBEZST) 98 17 - 3 4 3 n -
C_RMRRRES 5_RIERERE 547 58 1 9 14 24 439 2
C_EMARtES 6_fEX L DA TREE) 2 - - - - - 2 -
C_RMRRRES RI_ (B#8) ERE (RRZEL) 89 5 9 15 8 15 37 -
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BEHMBREEY : &

Fﬁ%ﬁﬁﬂ Fﬁ%ﬁﬁﬂ ?Egﬁﬁﬁ ?Egﬁﬁﬁ EEERE EERRE EERRE R
1 1 1 [
0_#A% 1_HEBAD [2_1FFKkm  |3_IFUESE [4 5FLIET0 [5_105L1E20[6_20FLIE  |7_BERIR
i ERE ERE TREE)
AR [ON) [ON) [ON) [ON) [ON) [ON) [ON) [ON)
[TES HEE LD
H EETIRESE 0_#2% 3,709 241 170 690 498 969 1,129 12
H EETREES 1_BRE 3,374 216 158 646 468 907 968 11
H EETREESE 11_ (BRE) EHROBE - %8 1,150 110 79 270 157 289 242 3
H EETREES 12_ (BAE) $BEREEEMOIKERLS 289 22 20 7 42 70 61 3
H EETREESE 13_ (BRAE) /S— bk« ZILNA - 2Dt 1,935 84 59 305 269 548 665 5
H AEETRHES 2 %8 43 1 5 6 2 5 24 -
H EETREESE SEADHIEE 8 1 - 1 1 5 - -
H AEETRHES L BAOLVEE (RENBEZED) 170 21 5 27 16 31 70 -
H EETREESE 5_RIEfEEE 84 1 1 5 8 14 55 -
H AEETRHES 6_fE% E Dl [REE) 30 1 1 5 3 7 12 1
H EETREESE RI_ (548) BRE (REZA&0) 3,417 217 163 652 470 912 992 11
1_85% - B EES 0_#% 120 4 12 25 20 30 29 -
1_#Mi% - BRI ESE 1_BRE 112 4 1 25 16 21 29 -
1_85% - LB EES 11_ (BRA#E) EROBE - %8 74 4 9 20 12 18 11 -
[_#fi% - SERE RS 12_ (BRE) HBHEREREMORELE 4 - - 1 - 1 2 -
1_85% - MBI EES 13_ (BRE) /S—hk - FILAA k- 204t 34 - 2 4 4 8 16 -
[_#fi% - SERESRE 2 &8 4 - 1 - 2 1 - -
1_85% - B EES SEADHDEE 1 - - - - 1 - -
[_#fi% - SRR E A BADBVEE (RENBEEZED) 1 - - - 1 - - -
1_85% - MBS 5_RiEpEEE 1 - - - 1 - - -
[_#fi% - SRt SRE 6_fEE LD [TE¥) 1 - - - - 1 - -
1_85% - B EES RI_ (Fi8) BRE (REZEL) 116 4 12 25 18 28 29 -
J B - REREE 0_#a% 85 5 3 16 12 22 26 1
J] RIEEES 1_BRE 50 2 3 11 9 13 12 -
J_ RIEREEE 1_ (BFRE) EHOBE - #t%8 36 - 2 6 8 9 " -
J] RIEEES 12_ (BA®) $BEREEEMOIKERLS - - - - - - - -
J REREES 13_ (BRAE) /S— bk = ZILAA k- 204t 14 2 1 5 1 4 1 -
J] RIEESES 2 %8 8 - - - - 4 4 -
J_ R EE SEADHHEE - - - - - - - -
J ] EitEE 4 BAOLVEE (RENBEZED) 6 1 - 2 1 - 2 -
J_ BiEEE 5_RIEREEE 19 - - 3 2 5 8 1
J B - RENESE 6_HEE LDl TREE) 2 2 - - - - - -
J R - RIEREEE RI_ (FB18) BRE (REZET) 58 2 3 1 9 17 16 -
KOEHE - 517 - AESEESs |08% 4,104 203 153 616 571 1,048 1,498 15
KBl - B - QRESHEE |I_ERE 3,824 188 148 575 532 993 1,377 11
KB - 517 - ARSHEE |11 (BEAS) EHAOBA - %8 385 28 26 86 45 96 103 1
KB - 517 - ARSHESE |12 (BERAS) HEOEREELMORKERLE 444 36 26 102 78 95 107 -
KB - 517 - ARSEESR |13 (BAR) /S—k - ZILAAS - 204 2,995 124 96 387 409 802 1,167 10
KB - AR - aESREE  [2.&8 24 1 1 1 1 5 14 1
KB - 517 - AEEHESR  [LEAOHIEE 6 - - - - 3 3 -
KB - BT - AESNEE L BADLBVEE (RENBEEZET) 137 8 2 22 26 25 53 1
KB - 517 - ARSEESE L REES 61 3 1 6 5 13 33 -
KB - AR - QESREE 6_fEE LT [TEE) 52 3 1 12 7 9 18 2
KBl - &R - ARSHEE  |RI_ (BB ERAE REZAL) 3,848 189 149 576 533 998 1,391 12
L_ DB REDME 0_#a% 1,372 100 #“ 115 130 224 642 120
L_SETRBEDRE 1_BRE 503 #“ 24 52 60 142 181 3
L_ DB REDME 11_ (BRA#&) EROBE - t%X8 105 13 9 15 6 27 34 1
LSBT BN 12_ (BA®) $BERESEMOIKERLS 35 4 1 4 6 9 11 -
L_ DB REDME 13_ (BRE) /18— bk PILAA k- 204t 363 24 14 33 48 106 136 2
L_DEBTREDHE 2 &8 11 - - 1 1 - 9 -
LD ETREDRE SEADHHEE 15 1 - 1 - 2 1 -
LS ETR BN 4 BAOLVEE (RENBEZED) 130 9 5 12 12 16 75 1
LD ETREDRE 5_RIEtRE 89 6 2 8 6 6 61 -
LS ETR BN 6_HEE Dl TREE) 624 43 10 M 51 58 305 116
L D ETREDME RI_(Fi8) ERE (BEZET) 514 Al 24 53 61 142 190 3
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